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Y 2 El(yotta) 10%4
Z A EH(zetta) 10%
E At (exa) 10"
P 7 EH(peta) 10" | 1 PB(ZElnto] E)=10" B(ulo] E)
T € 2} (tera) 10" | 1 TB(Elgtulo] E)=10" B(r}o] E)
G 717Hgiga) 10° | 1 GB(7]7}uto] E) =10 B(u}o] E)
M | 7Hmega) 10° | 1 MB(W 7}uto] E)=10° B(u}o] E)
k 2 2 (kilo) 10° | 1km(Z 27 E) = 1000m (7] H)
h 3 E (hecto) 102 | 1hPa(FEo~Z) = 100Pa(3~Z)
da t 7} (deca) 10"
d gl Al (deci) 107" [ 1di(dIA 2 E) = 0.11(2]H)
c AlE] (centi) 1072 | 1cm (A€W E ) = 0.01m (7] E])
m 1 2] (mili) 10°% | Imm (2 g E) =0.000m ("] &)
p | PFelA R (micro) | 1075 | 1um (Plol A2 E]) = 10 *m (7 H)
n U =(nano) 1077 | Ins(G=AA=) =10 (AA=) xsecond : %
D 3] F.(pico) 10712
f A E (femto) 1071
a o} & (atto) 107 1#
z A & (zepto) 10”2
y £ E (yocto) 102
£E LIEH = B5AL
2 S I=PN; At d
1 2% [mon(o)] monodrama (1¢1=
2 | Yldil, ble][bi] | bicycle (XFHA-2n0}4))
3 E g [tri] triangle(3H2+ &)
4 H E2}tetra] tetris(B| Eg] 2~ -E-Z47))
5 e} [peta] pentagon(2.7}3)
6 & A} [hexa] hexagon(%7+¥)
7 e} [heptal
8 <-E}[octal octav(ZELH -8L-7))
9 1} [nona]
10

t 7} decal

decameron(H| 7} 2-104 7k2] o]ok~])
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